AP Calculus BC Mr. Shubleka Quiz: 42

Present neatly en—separatepaper. Justify for full credit. No Calculators.

Name Score A (20 minutes) x10
Evaluate the given integral or explain why it doesn’t exist.

1)
"4 A | 1
1 dx
Jo x=—4x — 5
2)
(e dy
3)

-

‘ tcos’t dt
JO

4)
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AP Calculus BC Mr. Shubleka Quiz: 42

Present neatly enseparatepaper. Justify for full credit. No Calculators. X10

Name Score F (20 minutes)
Evaluate the given integral or explain why it does not exist.

1)
v — 1
| dx
x"—4x + 5
2)
VI
‘4 € dt
J1 \ t
3)

’ (x + sin x)*dx

.

4)

+ X + arcsin x
‘ dx

J 1 =x2
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